YEAR 13 PRACTICAL 9
Worked answer
a)
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b)
yield of product = 7.08 g (example), mass of methyl benzoate used = 9.12 g (example)

moles of methyl benzoate = 9.12/136 = 0.066

so max yield of N-phenylethanamide = 0.066 x 181 = 12.18 g


so % yield = 7.08/12.18 x 100 = 58.1%

c)
melts between 75 and 77 oC


so is fairly pure


because range narrow and close to expected melting point

d)
flooded affected areas after spillage because both acids are corrosive

wore gloves because both acids were corrisove

avoided naked flames with ethanol because it is flammable


wore goggles 
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